O 220ha @ 2200000 m?
@ 0.22km? @ 220000a

® 22000000000 cm?
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O 0.04 km? @ 0.4ha ® 400a

@ 400000 m? ® 4ha



@ 10000a

® 10m x 100m

® 0.1km?



4. o5 FolA Hol7t 7 E A2 o= AL Y7
® 0.3km? @ 0.3ha ® 300a
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D 4m? @ 40cm? ® 40m?

@ 4000 cm? ® 40000 cm?
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® 12ha @ 1200000 m?
@ 0.12km?2 @ 1200a

® 1200000000 cm?



7.
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@O 480000 m?2

® 4800a

® 4800000000 cm?
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@ 0.9ha=[ |m? @ 600m2 =] Ja
® 1.7t =] kg @ 80000kg = |t
® 60ha=[ |a



@D 24a = 240m? @ 1300a = 1.3ha
@ 8km? = 80000 a @ 1.6km? = 1600a

® 47m? =470a



10. o= FollA dolol &9 ¥AE vt=A vehd 212 o=

® 25km? = 2500a @ 4.9a=490ha
@ 6800000 m?2 = 680 a @ 0.54ha = 5400 m?2

® 370a = 3.7m?
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D 2km? = 20000 a @ 6ha = 60000 m?
® 40km? = 400 ha @ 500ha = 5km?

® 70000m? = 7ha



12. o=t

[t
)
P
s
Y
rlo
9
r
oy
o
W
)
-9

@ 24000m?2 = 2.4ha @ 150a =1.5ha
® 0.3km? = 3ha @ 24000a = 2.4 km?

® 3.6ha = 36000 m?



( )bl uke TRl E A2 112 A2 o] ZRIX] I EA|Q
3700000( ) =370( )= 3.7km?

@ m?, cm? @ m?, a @ m?, ha

@ ha, m? ® a, ha



14. g 3 o2 ek 2L oL 2GR

@ 3.6ha = 360m?2 @ 46 a = 46000 m?
® 240a = 0.024 km? @ 300m? = 0.03a

® 8km? = 8000000 a



@ 90000 cm? = 9m?
@ 4.5m?2 = 450000 cm?

® 10m? = 100000 cm?

@ 23m? = 230000 cm?

@ 35000 cm? = 3.5 m?



16. 9] Afole] TAZ Hr A Lepl AL o AU

@ 350m? = 35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700kg

® 23000000g = 23t



17. o183 Wolol B9IE 2R uE A oL AelA] wEAle
@ 4a=400m? @ 2000a = 20ha
® 6km?2 = 6000000 m? @ 3500000 a = 35km?

® 780000 m? = 78 ha
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@ 8000g = 8kg
® 1300kg = 1.3t

® 5630000g = 5630 kg

@ 0.4t =400kg

@ 017t =170g



@ 540g2] 10000 H1= 5.4 t L Th.
@ 350kg+4.7 t= 820 kg

® 570000g + 0.043t = 613 kg

@ 5kg2] 10008]= 5t AUt

® 420kg 2] 100 Hi= 42t 4Tt



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170kg

@ 0.7t 2 70g 2] 10000 BioJT},

® 380kg + 4200 g = 380.42kg



[ [l o2 s2 g2 AL 1240
9kg —» Dg
300g - @kg
58t =Qkg=®@g
4600g = 4.6kg = @t
@ 90000 @ 0.03 ® 58000

@ 58000000 ® 0.0046



@ 3t =3000kg @ 9000t = 9kg
® 2t =2000000g @ 0.6kg=600g

® 0.65t = 650 kg



23. 7/ &9 #AE X vEhd A2 o= AU
@® 3kg=3000g @ 4t =4000000g
® 5.5t = 55000000 g @ 6t =6000kg

® 120t = 120000 kg



24. H= T o W2 A2 o= AdY7R

D 0.75km? @ 100m x 4000 cm
3 80000a @ 25ha

® 100 m x 3000 cm



25. TS ZoA Hol7t 7P 2 AL o] A

O 0.02km?2 @ 0.2ha ® 2000a

@ 20000 m? ® 2ha



26. T Aolo] PAE vh2A Ll AL o= AYY7

D 6400m? = 640a @ 8.4km? = 8400 ha
® 290a =29ha @ 24t = 2400kg

® 70000000g = 7t



D 240a = 2.4ha @ 0.12km? = 1200 a
® 97.2ha = 972000 m?2 @ 3140a = 3.14ha

® 3500000m? = 3.5 km?



4.2 ha

)

420(

)

42000(

® m? a

@ km?, a

® m?2, cm?

® ha, a

@ ha, m?
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D 4m = 400 cm

@ 70000 cm? = 7m?
® 12m2 = 12000 cm?
® 630000 cm? = 63 m?

@ 480000 cm? = 48 m?



30. the % utEs tEhd AL ol AQUR

D 13ha = 130a @ 1.8km? = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?



@ 300a = 3m?
@ 2030m? = 20.3a

® 770a="T7ha

@ 9km?2 = 90000 ha

@ 43ha = 4300 m?



32.

e % Holrt 2

D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40 m?

O
—

@ 5km?, 500000 m?

@ 780000m?, 78 ha
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@® 240a=2.4ha @ 170000m? = 17a
® 0.2km? =20 ha @ 5.9ha = 59000 m?

® 35000a = 3.5km?



34. o= T HEA] 2o A2 o= AAYTR

@ 330a=3.3ha @ 20ha = 0.2km?
@ 540000 m2 = 54 ha @ 6.1ha = 6100 m?

® 1.7km? = 17000 a
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37. =S FAL EHE R

@ 6t = 6000000g
® 120000g = 1200kg

® 7000g = Tk

@ 500kg = 04t

@ 0.03kg=30g
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- 5000g = Dkg
-4t = kg

- 900ke = @t
1At =DBg
-0.12t = @kg

@5 @ 4000 ® 0.9

@ 1400000 ® 12



39.

O 0.001km? @ 10ha

@ 100000m? ® 1000000cm?

#o] Zol7t 100m 2 AAAF ] Wolg et
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@ 100a
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D 100cm? @ 1a @ tha
® 1km?

@ 10m?



41.

dare =5 HEOA|Q
170000 cm? = [ |m?
® 1.7 ® 170 @ 0.17

® 1700




